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621] KBRAT ] -53,844,000
622] KBRAT fETT 3,601,000
623  KBRAF =m 20,517,000
624]  KBRAT SFA™H 941,000
625| KBRAF WA™ 3,219,000
626] KBRAT RATH -13,871,000
627] KBRAT J\Em 5,050,000
628| KBrAF = BT 2,882,000
629] KBrAF RKEM -522,000
630]  KBrAF R -6,046,000
631]  KBRAF HEmm 109,000
632| KBrAF fHIE T 5,793,000
633]  KBrAF BiEm 1,889,000
634]  KBrAF =Aam 5,205,000
635 RIRAT BT 0
636] KBrAF EPNIT —24,035,000
637] RIAT SRET —1,045,000
638] KBRAT U B T -3,318,000
639 KBRAT XEHH —2,715,000
640]  KBrAF B 201,000
641]  KBIRAF S ZHT 580,000
642] KBrAF 5 [t] T 1,333,000
643|  RBrAF A5 B T 107,000
644]  KBRAT H R HET 997,000
645| EEE e dmii] -64,050,000
646 EEE JRERTH -25,479,000
647 EEER [ElGTH 48,531,000
648] EEE BRETH 9,389,000
649 EEERE AEM -1,569,000
650] EEIE MAT -4,805,000
651] EER EEm 17,797,000
652] EER Fim 26,095,000
653] EER HET 1,809,000
654 EEE S hilh 2,504,000
655| EER Y 14,175,000
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v i HEE
656| EEER AT -3,927,000
657] EER E& -8,255,000
658] EEE =Kt 1,316,000
659] EEE =T 9,228,000
660 EEE JIIFaTH 203,000
661 EEE INEFTH 1,458,000
662] EER —Hmh 616,000
663 EEE ANgaTh 939,000
664 EERE FHEEWT 1,625,000
665 EEE EXH 131,000
666 EEE FHE T 3,133,000
667 EEIE Aol -2,158,000
668 EER i Edil -6,029,000
669] EEE R IR 32,000
670 EERE REH -2,053,000
671 EEE ANERT™ -3,477,000
672] EEIE =2Dh -3,086,000
673] EEIR % A HT 795,000
674 EER Hie S HT 728,000
675| EEER 1 B2 BT 2,112,000
676] EER £ I HT 246,000
677] EEER A5 5A] T 171,000
678] EEIE N FHT -8,542,000
679] EEIR ) 216,000
680 EEE & FHHT -95,000
681] =RE =Rt -11,236,000
682] Z=RE AF0ABLLT 2,095,000
683] H=RE RIEM 7,726,000
684 Z=RE IR 137,000
685 ZEIE et -1,746,000
686] Z=RIE ABath 474,000
687| =RE B2 1,322,000
688] ZEIE B ~689,000
689] ZEIE Fheth 67,000
690 =RE LA AT -10,000
691] HREE MERFHT —1,067,000
692] HZ=EE =) —7,184,000
693| Z=RE B 7S HT -63,000
694 =RE T EEHT -508,000
695| H=RE EE:] -2,093,000
696] ZRIE =EHT -1,026,000
697] =RE H & AN HT 3,524,000
698] ZRIE 1= BT 70,000
699] =RE IEEXS -60,000




(E{r:[)

v i HEE
#BE AT IR i X BT 44 2544 SR AR
7000 Z=RE _E T 43,000
701 Z=BE X FHT -6,370,000
702] Z=EIE A S HT 2,122,000
703] Z=EBE T i fiT -200,000
704 H=ERE PIED 29,000
705 Z=RIE JII E# 706,000
706 Z=RBE AL 180,000
707| FIFLE IR TH —2,242,000
708 FFLE BA™ 3,937,000
709 FIRLE AHT 87,000
710 FFLE G 1,285,000
711 FFRLIE = EPHT 427,000
712 FFRILE iz 5 HT -464,000
713| FFRLE HATEAHT -304,000
714 %ugxm% =R 1,999,000
715 FFUE | FRE BT -254,000
716] BIWE SHh -340,000
717] BHRE = g 644,000
718] BEIE = RA 171,000
719] BEE LT 937,000
720 BEiRE Wit 125,000
721 BEE HE™ -26,065,000
722| ERE =™ 1,614,000
723 BiRE KHETH -2,422,000
724 SRR TXEh -877,000
725| BEiEE 5= SR ET 5,539,000
726] BIRE = i BT 985,000
727 BEE 0 EFET -184,000
728 BEE L] 551,000
729 SRR El ms‘z@ EHT 1,499,000
730 MELE 22 4,827,000
731 REWIE eI 94,000
732  REILE Sl 786,000
733  RILE fatim -1,332,000
734  MILE = Eh 9,466,000
735 EIILE fERiT 100,000
736] IR EEh 2,792,000
737 LR ST 130,000
738 LR EEHT 1,828,000
739  MILE B [E BT -18,000
740 RLE SREPHT 648,000
741 HELE R R T 309,000
742 LBE INCTii 26,401,000
743] LER B -4,618,000
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. i HBhEE
B8 FT IR X ET#f 254t R %E
744 L5 =JRth 10,715,000
745| LB fF 2,759,000
746| L5 EIRT 353,000
741 LS A -890,000
748 LS RILE™ 11,176,000
749 LB T=mHEh —1,418,000
750 LS JfiF = BT -432,000
751 IS Jt 5 SHT 415,000
752] LS TH FEHT 331,000
753 1LO FEbT 7,874,000
754 1LE o 64,000
755 1WA Jtth 10,000
756/ 1O Bt —1,339,000
757] L0 LLiF5/NEF E Th 1,000,000
758 WA FO A BT 92,000
759] 1O e 1€ HT -358,000
760] &S BalFE T -3,282,000
761 BE ot 37,000
762] 1EES =ifth 3,684,000
763] EE 5 LI T 372,000
764 fEE A HT -337,000
765| RE it SHT 535,000
766] 1EES DAHZH 147,000
767 ®E R A L LHT 644,000
768] &I =R 363,000
769 &I AEB™H -36,000
770 Y HH T -1,598,000
771 SHEM 934,000
772 EMNADTH 48,000
773 =27 7,762,000
774 T EHT 347,000
775 ING S HT ~7,067,000
776 = RHT 274,000
777 % 2 ~178,000
778 NI —12,843,000
779 FHS™ 3,244,000
780 AET 2,230,000
781 FE¥mh 845,000
782 HEFRRT 4,039,000
783 AP 265,000
784 £ SHT 1,470,000
785 | PN:IL:) 3,006,000
786 HE 57 BT 1,040,000
787 N F-HT -155,000
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189

790

7191

7192

793

794

795

796

197

798

799

800

801

802

803

804

805

806

807

808

809

810

811

812

813

814

815

816

817

818

819

820

821

822

823

824

825

826

821

828

829

830

831

HEEE

X ATH S R 5
FAHET 176,000
£ B HT 165,000
= Fa HT ~1,231,000
S%0th -8,607,000
= 47,000
A [E Th —3,000
Ti&m 393,000
JAlETH —1,917,000
TiEBKT 168,000
mA+mH 8,236,000
=FF 312,000
LN HET —2,982,000
{7 ) 1 BT 600,000
{7 J1| BT 1,045,000
HaH —1,078,000
2 EFHT -102,000
Pu 5 1-Hr —433,000
=2 3T —300,000
| R 48,722,000
&[] h -3,463,000
RKEHT 3,510,000
ABAKT 5,608,000
EAmT -1,161,000
fRixTH 1,524,000
H]IltHh 27,000
G 2,000
J\Zh —3,713,000
miETH 4,643,000
NG 3,899,000
T 2,683,000
h ™ 1,992,000
INER TH -88,000
REETH —2.,369,000
ZHmh 4,931,000
AEFHETH —2.,870,000
=iEH -3,617,000
boam -969,000
fe 2 -351,000
S=lEth 227,000
=M 101,000
=M 1,240,000
B2 —1,150,000
APEM —7,654,000
RE™H 8,648,000
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BRI i HEE
832 faht = EEm 241,000
833| fafelE i 50 HT -1,585,000
84| wEHE =) 1,121,000
835| faM&E A LLIHT -546,000
836| fafeE AH = HT -400,000
837] fRME = = HT 371,000
838 @[ IR JK S HT -7,919,000
839 fRRmE [ S AT 3,607,000
g40| fEHE ] -1,999,000
841 TEREIE ] -676,000
842 +E[EIR R JITHT 3,075,000
843 1EREIR X 715 BT 501,000
g44| EHE R ARHT -2,038,000
845| fRME 7 FH T -156,000
g46| fERME K AEHT 544,000
847 fRmE & 2 BT 2,218,000
848| fERE i FH BT —2,832,000
849| fafeE &2 C HT 1,617,000
850 &R == -1,679,000
851| fafeE =) 334,000
852 &R 2 FHT -905,000
853 EER EETh -9,415,000
854 {EEER EiEmh 951,000
855 EEER ST 687,000
g56| EHIR AT -32,000
857| {&HER FHET 105,000
858 EEE REEH 5,305,000
g59| EER BEST -4,696,000
geo| EHIR INER T 445,000
g861| {EZHER = Er LT -176,000
g62| EEER AT 57,000
g63| EEER 3] 149,000
ge4| EEER HOZHT 452,000
ges| EHE % T —206,000
ge6| EEER £ HHT 610,000
ge7| EEER X BT BT 23,000
868 AEE ;TICHT 219,000
869 FRIFE RIGTH -14,045,000
870| EIFE EH&ET 2,574,000
871] RIBE SR 3,221,000
872 FRIBRE RET 29,657,000
873] RIBE PNt 2,383,000
874 FRIBE YR 614,000
875 RIFE WiETh 4,678,000




(E{r:[)

v i HEE
876 RIFE X B 1,419,000
8771 RIBGE = Iz h 670,000
878] FRIBRE EETH 2,060,000
879] RIBE Fa g 4,922,000
880| RIFGE =lth -3,997,000
881 RIKE R 5H 15,953,000
882] FRIBRE fF 2 HT -314,000
883] EIFE 1k < BT -218,000
gg4| FEXRE BEAT 6,322,000
885 REXRE ASGh 2,118,000
886 HEARIR SUEm 1,175,000
887 REARR K™ 1,926,000
888| REAE EX A0 726,000
889| HEARE Fm 3,879,000
890 REARE Fim 153,000
891 REARRE EFXET -13,074,000
892 HEARE Fih 505,000
893| REARE Bnm 404,000
894 HEEARIR F AT 407,000
895| REARR P o] T 44,000
896 HEAE = IMHET ~415,000
897| REXRE FI7K BT -133,000
898| HEARIR XEHT -552,000
899| HEARRE = R H] 1,907,000
900 HEEARIR EIREED -375,000
901| REXRE SR 810,000
902| EEXRE % B KHT 1,071,000
903| REARR iz B AT 512,000
904| REXRE HEH 428,000
905 EEARIR WLTH -487,000
906] HEARE HEVYHT —5,650,000
907 K&HE Xoth 1,220,000
908 KL E Al fF T 3,538,000
909 XKHE HiETh -4,742,000
910f RK» R HHE™ -2,649,000
911 XKHE 3% 10,778,000
912 KHE MET -344,000
913] RKn &R FiEh -1,204,000
914] K E SR XEHm -3,504,000
915| RKHE Kt 1,168,000
916] RpnE B HET —1,930,000
917] KHE JUEHT 40,000
918] HIFE = G Th -4,202,000
919 =GR SEfE T -3,766,000
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. HENEE
#BE AT IR X ET#F 2544 SR AR
920 EIFE H [l h 0
921 =GR BfEmh 839,000
922 =IRE kT 3,185,000
923 EIFE = [ T 559,000
924 =IFE B3] -418,000
925| HIRE =1 e BT 180,000
926 =GR R 3k BT -100,000
927 =GR )1 e T 705,000
928] EIRE = HET 236,000
929| =GR F9) 11T 133,000
930 =IFE Hiz=k —414,000
931 =HIFE 4 FAHT ~17,000
932| BERER ERET 11,619,000
933] EREER BEM -271,000
934 BERER PLUG T 172,000
935| EREER BT AR th -214,000
936| BRER EEm 221,000
937] BERER AR —1,254,000
938] BERER K 1,473,000
939| ERER | EEJIAT 3,205,000
940 EREIR Hi&m -1,316,000
941 BRER =it 2,295,000
942]| BEEEE BET 7,839,000
43| BRERE [WWEEXEFH -189,000
944] ERER FcD&Em -1,920,000
945| BEREIR ettt -199,000
946| EREIR mETh 1,914,000
947] EREER REh -243,000
948] EREIR MR -2,742,000
949 EREIE =5# -81,000
950 BERER S DFEHAT -2,044,000
951 BRER X i T 642,000
952 ERER R &R BHT ~17,000
953| BEER T HT 430,000
954] ERER EPNGL] ~72,000
955| EREE HF 1< T —1,664,000
956| BERER R FI4Y -151,000
957] ERER FRAT ~76,000
958 EREE BE SR ET 14,000
959| ERER &2 SHT 1,099,000
960 EREIR X Ik T 178,000
961| BERER #0;8HT -45,000
962 ERER 50 44 BT -31,000
963| HH#EER ] 14,692,000




(E{r:[)
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965

966

967

968

969

970

9/

972

973

974

975

976

971

978

979

980

981

982

983

984

985

986

HEEE
R ETH AR
B ET 9,220,000
Al 307,000
AR 1,240,000
2 -4,236,000
R T 609,000
SR T 38,450,000
S Rh —9,520,000
28Fm -12,588,000
A kT 13,000
[BEAT -646,000
SIEICH 2,011,000
ZR SR HT 1,125,000
SELER 170,000
B EEEAT -285,000
& ECHT 2,166,000
AN 208,000
5= FHRHET 1,710,000
Jt A& HT —2,118,000
o 3% 4 2,620,000
Fic ) 1,269,000
7 J& [ BT 17,166,000
A XK SHT 533,000
J\E FEHT 2,171,000

83,385,000




